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Muk =§ 2l rlﬁ,z?,mq,sog

Nvk = i 20 ,2] /35/1?13-13

(Muk)- (Nok) = $94 303

| P+ Heis vich

9 : ke i haﬂ)g

(%)

if he ic vich ,dwan he X nkagey, -

P> ~a =l

(¥)

He i neithar rich nor lappy,

@

I 18 meessavy, bl 'Poov In ordey t ke "qﬂ"!('
4 > ~P Cckaﬂé]w, Soltfenee ?;_rvc%orc)

= If Lam happy , then t-am poot .

(dq

A

He ic un(mppg_ +{ and only if he is poor .
Irie v v

~q, & ~p

P
[

(e)

To ke poor )e b be U"‘Wﬁp‘é_ Cif | am poor ,Than | am vhhappg_)

NP—)rvct« "'/

NS———— SAM S |° www.samfah.com.my




